A £ 0l & AF & S

Al A

= elEsiE € 25 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
L OIZOH Q! 1t 248,050,873 201,582,288 46,468,585
= 148,018,935
[ 2,640,040
Al 45,234,966
Ea 52,156,932
oISt 154,356,576 126,132,652 28,223,924
= 87,161,353
[ 2,511,073
Al 24,582,093
= 40,102,057
LoEsXE ¥ 25 122,227,152 107,182,312 15,044,840
= 86,606,514
= 2,511,073
Al 21,006,005
o 11,953,560
celEX gt 27,600 27,000 600
202 04| 8,400 8,400
01 2K 8,400 8,400
o220l 8,400,000& 8,400
203 gF=4| 4,800 4,800
03 A=A =T 4,800 4,800
OA2|SXER=2 4,800,000 4,800
204 AR AH 14,400 13,800 600
02 SEEF3H 14,400 13,800 600
otfel syl 50,0003 x24H*12& 14,400
COIEESSAHIA K 3,373,615 3,006,022 277,593
[ 2,359,177
Al 505,539
= 508,899
201 Let=23 | 3,360 3,360
01 At22te|Hl 3,360 3,360
OfIHa B4+E 70,0002 x4 H*43] 1,120
(©F=3=udulF= 2,240,000 2,240
307 212+01& 3,370,255 3,092,662 277,593
= 2,359,177
Al 505,539
o 505,539
1 AMISXAIEEX 3,370,255 3,092,662 277,593
apetu] 3,370,255,000& 3,370,255
[ 2,359,177
Al 505,539
Ea 505,539




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LOIXESESMEIA SASE 20,160 20,160 0
Al 20,160
307 21201 & 20,160 20,160 0
Al 20,160
1 AMEISXAIEEXS 20,160 20,160 0
OXH+=< 40,0003 =128 =120 2 5,760
Al 5,760
OXRIME =< 100,000 x 122 * 12043 14,400
Al 14,400
SO0 ZOHQl STAMOIAMHIA SYXIR(DI2H 308,792 238,362 65,430
2g4l1)
= 151,896
Al 75,948
[Ea 75,948
307 212+01& 303,792 238,362 65,430
= 1561,8%
Al 75,948
s 75,948
1 AMISXIAIEEX 303,792 238,362 65,430
OSSOl - BNl STOHHOIA AHIAALY
303,792,000 303,792
= 151,8%6
Al 75,948
o 75,948
SHEO - el SSHEAYMEIA SAt=E 6,720 6,720 0
Al 6,720
307 gl2to| & 6,720 6,720 0
Al 6.720
11 AMEISXAEEE 6,720 6,720 0
CEEECICIp e
40,0002 x4 x 122 1,920
Al 1,920
OS2I MM+
100,0002 ~4&x12& 4,800
Al 4,800
THOH= Q1 ATAHE AL 369,600 279,000 90,600
Al 362,400
= 7,200
307 elztol & 369,600 279,000 90,600
Al 362,400
o 7,200
11 AMEISXAIEEXS 369,600 279,000 90,600
OMIt=l AAHHHE A THZH]
4,000 *302E «3002] 362,400




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 362,400
OMIHCQl AAHE AR ST 2 2|
600,000 * 122 7,200
24l ANESSUE NZ A 84,000 82,000 2,000
201 er23| 2,000 0 2,000
01 At2t2ltl 2,000 0 2,000
Os=2==M& 2,000,000& 2,000
307 elzto| & 82,000 82,000
11 AMEISXAIEES 82,000 82,000
ONZ4 ANESSUE XZ A
82,000,000& 82,000
DIESI=IONI= 98,634,913 88,936,549 9,698,364
= 78,907,930
Al 11,836,190
o 7,890,793
301 EtE2 NS 98,634,913 88,936,549 9,698,364
= 78,907,930
Al 11,836,190
o 7,890,793
01 Al EE A S (2 DEXR) 98,634,913 88,936,549 9,698,364
OJI=¢3 98,634,913,000& 98,634,913
= 78,907,930
Al 11,836,190
= 7,890,793
colgiiel & ASIES XIE A 15,582,688 10,972,887 4,609,801
= 7,758,584
Al 7,758,584
= 65,520
101 @124H| 70,440 68,514 1,926
= 32,700
Al 32,700
[Ea 5,040
M ORINZZ2NSE S 70,440 68,514 1,926
oINS S SRIAAY EERH(2E)
65,400,000 65,400
= 32,700
Al 32,700
OLCIAtIZSAIANMNY 8EA =0t XI5
5,040,000& 5,040
201 =3 97,080 84,420 12,660
= 48,540
Al 48,540
01 At22t2lt] 97,080 84,420 12,660




A =QIE0HRI Dt
M Lol=XEX
ol LolsEXdE ¥ B (EEEE))
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OLCINBZEXRAY 0|
97,080,000 97,080
= 48,540
Al 48,540
301 LEHBHEF 1,831,060 1,440,450 390,610
= 915,530
Al 915,530
01 A 2&HSE 2 (FREETR) 1,831,060 1,440,450 390,610
OLoMNIESK NS (SUE) 1,831,060
OFA &=t 290,000 574« 11& 1,831,060
= 915,530
Al 915,530
307 QI2Hol 1,901,200 1,402,971 498,229
= 946,820
Al 96,820
2 7,560
11 ABI= XA X 1,901,200 1,402,971 498,229
OLOIABI B S NIRAY SHETH3)
88,740,000 88,740
= 44,370
Al 44,370
OLQASIESXIRAAY Y FOHK3
7,560,000& 7,560
OLOIAIBZEXRAIY (ZAH)
290,0003 x410B11& 1,307,900
= 653,950
Al 653,950
OLQIASIESXIAAY SO ZYI
73,800,000& 73,800
= 36,900
Al 36,900
OLQIAISIZ2 S KA (AISIAHIAE) 423,200
Oel| 634,000& x50 102 317,000
= 158,500
Al 158,500
OFF=E 148,500& *50H 102 74,250
= 37,125
Al 37,125
Rt EE]s] 639,000 *50H 31,950
= 15,975
Al 15,975
308 AXIHMSO0I& 2,898,200 7,819,797 A4,921,597
= 1,449,100
Al 1,449,100
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FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLQIANSIESX A (SUEH) 2,931,900
OAlLIoi28 2SH)
290,000 «870E 112 2,775,300
= 1,387,650
Al 1,387,650
OAILIOZE 20|
180,000& »870H 156,600
= 78,300
Al 78,300
OLOIABIBE XA (AIRE)
2,670,000& x136& 363,120
= 181,560
Al 181,560
OIS BSNIAAR (YA )
150,000& *110H 16,500
= 8,250
Al 8,250
O QASIESXIRAAS (AFBIMHIAE) 4,799,088
OglZit| 634,0002 x567 H* 102 3,594,780
= 1,797,390
Al 1,797,390
O=s=g 1485002 x567 E 10 841,9%
= 420,998
Al 420,997
O=U&Hl 639,000 x567H 362,313
= 181,156
Al 181,157
AILIGIZEE 23X 344,526 342,307 2,219
Al 19,000
[Ea 325,526
307 212+01& 344,526 0 344,526
Al 19,000
= 325,526
10 Al SXAIEEHE2EHI 22X 344,526 0 344,526
OAlLIoIZ2E 2121481(59)
277,110,000& 277,110
Al 9,000
Ea 268,110
OAILIGIZEE =gl 67,416,000 67,416
Al 10,000
[Ea 57,416
COINEAICH Hedl X 81,800 81,800 0
Al 40,900
= 40,900




SA: LoIE0H et
M Lol=XEX
gelr LoEsIE ¥ 25 (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
301 LPBNZ 81,800 81,800 0
Al 40,900
= 40,900
02 MBI EZASHS(HAUAS, XLTHA) 81,800 81,800 0
O=QIFRAICH et X2
100,000 *8 18I CH 81,800
Al 40,900
= 40,900
SOIDIEAICH Wetdl K& 40,900 40,900 0
Al 20,450
= 20,450
301 LBBNSZ 40,900 40,900 0
Al 20,450
= 20,450
02 MBI EZAGS(HAUAS, XLTHA) 40,900 40,900 0
OLQIDIEAICH HEHl XI&
50,0003 *8 18I CH 40,900
Al 20,450
[ 20,450
dZ2AE X2 840,520 830,230 10,290
Al 432,864
= 407,656
301 LPENZ 40,000 40,000
14 J|EI2 43 40,000 40,000
OZ3=ZAY T2 SALA AlHIXI&
10,0003 * 16 x250 40,000
307 212+01™ 290,520 280,230 10,290
Al 203,364
[ 87,156
11 Al =SXAMEES 290,520 280,230 10,290
OF=2AY SAXIA (212 6oA)
290,520,000 290,520
Al 203,364
= 87,156
308 AXISHMSOIN 510,000 510,000 0
Al 229,500
= 280,500
13 BI |2 SOICHEH B A X LE AL 510,000 510,000 0
o3d=zAd 2IXA 510,000
oggLolsi2
3, 0002 x260% x250! 195,000
Al 87,750
= 107,250




FA I OoNel 1t
M Lol=XEX
el LoEgsSiE ¥ 2S (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONRLoI=X]2
3, 000& 420 250! 315,000
Al 141,750
Ea 173,250
S50/8A(ol S= 2 0l - 018H]) XA 1,917,280 1,785,000 132,280
201 et 3| 10,080 8,000 2,080
01 At 22|l 8,000 8,000 0
OBI=X =N & SE2H|
8,000,000 8,000
2 352484l 2,080 0 2,080
Og=2E= 2# &5 5202 *4,00024 2,080
301 EtE N = 1,882,200 1,752,000 130,200
02 A2 XSG (FHAAHS, NSWE) 1,882,200 1,752,000 130,200
o== % 0l - 0188 X&
15,0002#31,370E +42| 1,882,200
307 @I2t01 & 25,000 25,000
05 2IR”IRIE = 25,000 25,000
OHIZH IIC HMAAE 29 +42
25,000,000 25,000
ooy 2 H2og XH 401,000 258,650 142,350
Al 6,000
[Ea 395,000
307 el2to| & 401,000 258,650 142,350
Al 6,000
o 395,000
02 QItEHAEE X 11,000 8,650 2,350
OXUTANEFZ A2 HEA AHE2S TR
11,000,0002 11,000
04 QIZHHAIAIRH 2 X 390,000 250,000 140,000
ooy & 329 K&
390,000,000 390,000
Al 6,000
= 384,000
tist=0lal X2 62,600 61,200 1,400
Al 1,250
s 61,350
307 21201 & 62,600 61,200 1,400
Al 1,250
[Ea 61,350
02 LB HANHEE 16,900 15,500 1,400
OXI2 &t et=tHal 6,200,000 6.200
OX =& Jet2EEEs
5,300,000& 5,300




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
onzd NSEs 8¢ At
5,400,000& 5,400
10 Al SXAZEHE 22X 43,200 43,200 0
O88 o= XA
900,000 x 1200 243 43,200
11 AMRISXAEEES 2,500 2,500 0
OsAgstsd 2EAA 2,500,000& 2,500
Al 1,250
T 1,250
CoIXg 244l XA 135,438 123,525 11,913
Al 10,000
Ea 125,438
307 gl2to| & 135,438 123,525 11,913
Al 10,000
s 125,438
03 PIAHHEE 22X 135,438 123,525 11,913
OL0oIXlsl =34l X 135,438
O] (2Y) 93,341,000 93,341
Al 5,600
= 87,741
O=2gH(B323, =4l )
42,097,000& 42,097
Al 4,400
o 37,697
CRINII=EXIAIE &5 & X 29,539,655 16,447,243 13,092,412
= 484,839
Al 1,091,779
o 27,963,037
d2G AF L 2= 2,417,000 1,410,000 1,007,000
401 AlZHIZ SO 2,417,000 1,410,000 1,007,000
01 AlZ8| 2,39%,000 1,405,000 990,000
Oad gueeld2g AFIA
507,000,000 507,000
OFA HEEZY AESA
508,000,000& 508,000
OSE =03z g clZ2ESAt
100,000,000 100,000
O24t M23e|F2E AIENWESAL
70,000,000 70,000
Otls BEAZY AIEIHEZA
50,000,000& 50,000
OMM HE0IZFZE AIENESAH
60,000,000 60,000
OFS HEE2E AEMHLESA
50,000,000 50,000
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FA I OoNel 1t
M Lol=XEX
o9l TOlOPDI=XIAA 25 U X8 COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&me2| Z2Y 220| RAZeH]
2,600,000& 2,600
301 EtE2 NS 2,600 2,600
14 0Bt 2a=S 2,600 2,600
OARY SAFH NAZAK AHINL
10,0002 138 »20! 2,600
307 212+01& 1,292,580 1,172,140 120,440
Al 237,510
T 1,065,070
10 Al SXAEEHE2EHI 22X 1,212,360 1,096,720 185,640
oZzd 244l s N 1,212,360
O=2gH| 639,640,000 639,640
Al 116,928
o 522,712
Ot 243,600,000 243,600
Al 66,990
[Ea 176,610
Odgl 178,640,000 178,640
Al 53,592
= 125,048
OZzd 244l =&
150,480,000& 150,480
11 AMRISXAEEES 80,220 115,420 235,200
OZ2Y ALTZR0IXE A
80,220,000 80,220
405 AHatE = 325,340 289,250 36,090
Al 45,000
Ea 280,340
01 ML ESFSHI 325,340 289,250 36,090
OBl lszdatg
1,500,000 *60IH 2 90,000
Al 45,000
s 45,000
OZ2% HIg & 213,500
odail 1,000,000 * 10CH 10,000
Ogxda 1,800,000 *20CH 36,000
Ogdigld 1,500,000 *5CH 7,500
oo 2,000,000 «50CH 100,000
OOt Xt 2,000,000 *30CH 60,000
OANIEEZE HIZ +¥ 21,840
OPC 910,0003 »24CH 21,840
2 dutgdl & eb=dl A2 1,389,678 745,684 643,994
= 484,839
Al 242,420




FA I OoNel 1t
M Lol=XEX
o9l TOlOPDI=XIAA 25 U X8 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 662,419
307 gl2tol & 1,389,678 745,684 643,994
= 484,839
Al 242,420
= 662,419
10 Al SXAAEEHE2EHI2x 1,389,678 745,684 643,994
OBtAIHY Hgdl X3
370,000 x406 4 2= +53 751,100
= 375,550
Al 187,775
= 187,775
OBtAIR Hdl XId
165,000 x406 4 2= +2 & 133,980
= 66,990
Al 33,495
o 33.,4%
o=l X& 84,598,000 84,598
= 42,299
Al 21,150
2 21,149
OARY Y - LYY FIH
420,000,000& 420,000
22Y =322 23 156,660 148,397 8,263
Al 51,659
T 105,001
307 lztol & 156,660 148,397 8,263
Al 51,659
= 105,001
1 AMEISXAEEXS 156,660 148,397 8,263
OZ2Y szt 29
156,660,0002 156,660
Al 51,659
o 105,001
SHhotsad |G (252 43H) 22 A 37,000 37,000 0
Al 37,000
307 el2to| & 37,000 37,000 0
Al 37,000
10 AlRISTIAIEEE 22X 37,000 37,000 0
O3EH RAUXNA(45Y) I2E 23| 37,000
Ooysd d=2g
500,000 #1600 A x42 | 32,000
Al 32,000
Ooss=2 1,250,000 « 10 #4221 5,000
Al 5,000




FA I OoNel 1t
M Lol=XEX
o9l TOlOPDI=XIAA 25 U X8 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A0E H2E 75 € 2 103,320 60,720 42,600
201 er23 | 41,400 13,200 28,200
01 At2teltl 41,400 13,200 28,200
oget=ZH| 41,400
OS2z HEUE 22z
13,200,000 13,200
O+ dEME 228 HAE
20,000,000 20,000
OALIE d=2¢g 24 & 2U3H|
4,000,000& 4,000
OALIE d=2g Moty FAI2 4|
4,200,000 4,200
301 22N = 14,400 14,400
14 JIEt2 8= 14,400 14,400
OADIE 322 NHASALL &H| X2
10,0003 x362 x40 14,400
307 elztol & 47,520 47,520
03 QI HHEE 22X 47,520 47,520
OADIE Z2Y FEAL(H2=R)
47,520,000 47,520
o=k 2SN 2,766,380 2,594,762 171,618
Al 466,190
o 2,300,190
308 XXM SOIH 584,529 705,523 A120,994
Al 40,000
= 544,529
18 SIS0t 4 A A A 584,529 705,523 120,994
OMEL=X2 A
299,495,000 299,495
Al 20,000
Ea 279,495
OgR oIS AIEHI
285,034,000 285,034
Al 20,000
[Ea 265,034
309 &dE= 1,985,201 1,840,139 145,062
Al 426,190
= 1,559,011
01 SAt- SHEYNES 1,985,201 1,840,139 145,062
ONRLISX2 23|
1,045,252,000& 1,045,252
Al 213,09
s 832,157
Og=RLo=I2 24|
939,949,000 939,949




FA I OoNel 1t
M Lol=|=A
o9l TOlOPDI=XIAA 25 U X8 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 213,09
s 726,854
404 SAIESEH=EES 196,650 49,100 147,550
01 BAt- SHAZ2NES 196,650 49,100 147,550
ONSLI=TR IHERAY
169,000,000 169,000
og=RLel=X2 H=83H
27,650,000 27,650
coltst K& 52,000 56,000 24,000
Al 12,000
s 40,000
307 elztol & 42,000 48,000 26,000
Al 10,000
Ea 32,000
1 AMEISXAIEEXS 42,000 48,000 26,000
COITHEr AN (22 L)
42,000,0002 42,000
Al 10,000
o 32,000
308 AtXIEMSO0IE 10,000 8,000 2,000
Al 2,000
= 8,000
18 SIS0t & HAS A 10,000 8,000 2,000
OQltist 2SI (SESEAESAZ)
10,000,000 10,000
Al 2,000
o 8,000
SSLESEEXER 8 (AHISHI) 20,886,000 9,800,000 11,086,000
401 Al HIZL R 0HHI 20,886,000 9,800,000 11,086,000
01 Al&HI 20,018,000 9,000,000 11,018,000
O3 A 20,018,000,000& 20,018,000
02 Zeld| 800,000 780,000 20,000
oZell 800,000,000 800,000
03 A2 2 0HYI 68,000 20,000 48,000
OAIE20HbI 68,000,000 68,000
COIMEAIE & THOAIE X 2,589,769 2,503,097 86,672
= 10,000
Al 2,394,309
[Ea 185,460
LZAE 2EH| X (HEAY) 1,242,875 1,035,351 207,524
Al 1,242,875
307 glztol & 1,242,875 1,035,351 207,524
Al 1,242,875




FA I OoNel 1t
F<E P TI= (E Y
SRl EoldEAIE 2 THOHAIE K12 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 1,242,875 1,035,351 207,524
OLQIFEH=XAIE 2H N
1,242,875,000& 1,242,875
Al 1,242,875
COIMEAIE 23] X 724,860 722,160 2,700
Al 641,400
= 83,460
201 Ler=23 | 3,360 3,360
01 At2teltl 3,360 3,360
OFIILYIIT N AMFIBE Ba4T
70,0008 x4 x123] 3,360
301 LEtE NS 80,100 77,400 2,700
02 ARSI S2E AT S(FIANS, XLETHE) 80,100 77,400 2,700
OLQIUEAE AZ
45,0003 x800& »23] 80,100
307 glztol & 641,400 641,400 0
Al 641,400
10 Al SXAEEE 22X 641,400 641,400 0
LCOIMEAIE SALAL A&
641,400,000 641,400
Al 641,400
LCOIMEAIE EF(0ISEY) MY 20,000 179,710 159,710
= 10,000
Al 10,000
402 212 X201 & 20,000 179,710 A159,710
= 10,000
Al 10,000
02 QIZEHE AL E (01X THE) 20,000 179,710 159,710
O£ QAA(GWANEE EX)
20,000,000& 20,000
= 10,000
Al 10,000
Mot RISXIAIE 28] X2 580,034 565,876 14,158
Al 500,034
o 80,000
307 212+01& 580,034 565,876 14,158
Al 500,034
= 80,000
10 Al SXAIEHE 202 580,034 565,876 14,158
OMIH=INHMBIANE 2
138,168,500 #4JH 2 552,674
Al 472,674
Ea 80,000




FA I OoNel 1t
M Lol=XEX
SRl EoldEAIE 2 THOHAIE K12 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMIF=OI XA AHIE SAKE Al2t2la
g 150,000 x 122 * 1204 21,600
Al 21,600
OMIICQIXI A MEIAME SALAE X2
40,0003 «12E* 1200 & 5,760
Al 5,760
FIIQAUSAA AEHEA 27 ES 22,000 0 22,000
207 ARl 22,000 22,000
01 H1E4HI 22,000 22,000
OFIILUSBANL AEHZAL HAEH
22,000,000& 22,000
oIS 49,562,428 41,209,534 8,352,894
= 23,602,569
Al 17,605,952
o 8,353,907
NASE Z0A I XA 22,961,198 20,730,172 2,231,026
= 14,745,434
Al 8,035,927
o 179,837
=g (01x) X= 907,494 604,996 302,498
= 635,246
Al 272,248
301 eEetE2 N = 907,4% 604,99 302,498
= 635,246
Al 272,248
01 Al 2E AL S(SREXME) 907,4% 604,9% 302,498
OFM=E(II=x) 907,494,000 907,4%
= 635,246
Al 272,248
Z=(XARAS) K= 442,072 368,393 73,679
= 309,450
Al 132,622
301 LEtE N = 442,072 368,393 73,679
= 309,450
Al 132,622
01 Al EE A S(FRDEXA) 442,072 368,393 73,679
O M= (Xta?IS) 442,072,000& 442,072
= 309,450
Al 132,622
Foieloi=s Xs 5,482,402 5,206,344 277,058
= 3,837,682
Al 1,644,720
301 EtE NS 5,482,402 5,206,344 277,058




A =QIE0HRI Dt
o FOjRI=2X ST
Ol MASE ROJOIAMSOHS X 2AY (Shol: % 2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 3,837,682
Al 1,644,720
01 Al B& X Z2(2REETA) 5,482,402 5,205,344 277,058
OFeIAZ 5,482,402,000& 5,482,402
= 3,837,682
Al 1,644,720
Zoeld=a AlHIXIA 232,700 230,500 2,200
Al 232,700
301 LPENZ 232,700 230,500 2,200
Al 232,700
02 ANSI2EH>E S (FHUAHS, NSTHA) 232,700 230,500 2,200
OFOHIHAZ AHIXIA 232,700,000 232,700
Al 232,700
HASEOfR! & 2 2 Al XI& 2,4%6 1,664 832
= 1,248
Al 1,248
301 LEBNZ 2,4% 1,664 832
= 1,248
Al 1,248
01 Al B&X2HZ2(2REETHA) 2,4% 1,664 832
OMASEOe! & Y ZAtHl X2
41,6002 +60H 2,4%6
= 1,248
Al 1,248
Zopele|zdl XA 130,000 112,575 17,425
= 104,000
Al 26,000
308 AXISHMSOIN 130,000 112,575 17,425
= 104,000
Al 26,000
13 B2 SHICHEH B A E L EFALAH] 130,000 112,575 17,425
oFofelelzy| X 130,000,000& 130,000
= 104,000
Al 26,000
ZHOHRIERD1D] XI& 11,994 11,758 236
= 9,5%
Al 2,39
301 LB F 11,94 11,758 236
= 9,5%
Al 2,39
01 A 2&HSE 2 (FREETR) 11,94 11,758 236
OFOIEEID| XA 235,160&*51H 11,94
= 9,5%




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 2,39
oL X2 X2 (L Lxtel) 828,000 836,194 N8,1%4
= 414,000
Al 414,000
301 2eEN= 828,000 836,194 A8,194
= 414,000
Al 414,000
01 A2 HSHS(RNEERTH) 828,000 836,194 N\8,194
odojlgerged e A&
828,000,000 828,000
= 414,000
Al 414,000
ZOHQI L Kt I XI& (AR Rt2l) 296,000 288,412 7,588
= 148,000
Al 148,000
301 2= 296,000 288,412 7,588
= 148,000
Al 148,000
01 AR 2EHSHS(RNEERTHE) 296,000 288,412 7,588
OFOQIAIRHL ] X2
296,000,000 296,000
= 148,000
Al 148,000
ZOoHRI L Kl XI& (SXILXel) 428,000 418,433 9,567
= 214,000
Al 214,000
201 =3 2,280 2,420 A140
= 1,140
Al 1,140
01 At22t2lt] 2,280 2,420 A140
Oggt+==H| 2,280
OZoHelLxtel 2| 2,280,000& 2,280
= 1,140
Al 1,140
301 Eet2 NS 322,171 416,013 N93,842
= 161,086
Al 161,085
01 ARSI 2E AL S(SREXMH) 322,171 416,013 N93,842
OFAI=XLAtel XA
322,171,000 322,171
= 161,086
Al 161,085
307 el2to| & 103,549 0 103,549




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 51,774
Al 51,775
11 AMEISXAEEES 103,549 0 103,549
OZMA=SXNLRtel XS-AE
103,549,000 103,549
= 51,774
Al 51,775
ZOHQIA Kt I XI& (QOLAF THA) 186,200 182,228 3,972
= 149,000
Al 37,200
307 212+01& 186,200 182,228 3,972
= 149,000
Al 37,200
11 AMEISXAEEE 186,200 182,228 3,972
OAIZTH 0! QHOFAL ItA
186,200,000& 186,200
= 149,000
Al 37,200
ZOHQIA Rl K& (LEEHel = Riel) 52,000 62,820 210,820
Al 52,000
301 LEtE NS 52,000 62,820 210,820
Al 52,000
02 A 2E AT S(FIANS, XLETHE) 52,000 62,820 210,820
OLHMe B=AX2IXIY
52,000,000 52,000
Al 52,000
LR eIXE (LS A EX) 168,000 164,258 3,742
= 84,000
Al 84,000
307 glztol & 168,000 164,258 3,742
= 84,000
Al 84,000
11 AMEISXAIEEE 168,000 164,258 3,742
OLZTNR QRAESAI BX
168,000,000 168,000
= 84,000
Al 84,000
0Nl ESSKAAAS 10,007,899 9,388,112 619,787
= 7,005,529
Al 3,002,370
307 lztol & 10,007,899 9,388,112 619,787
= 7,005,529
Al 3,002,370
05 2IMRIE =3 10,007,899 9,388,112 619,787




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS2 A 10,007,899,000& 10,007,899
= 7,005,529
Al 3,002,370
o es2x JREH 180,441 71,077 109,364
= 126,309
Al 54,132
307 21201 & 180,441 71,077 109,364
= 126,309
Al 54,132
05 2ItRIE = 180,441 71,077 109,364
OZMAESEX SN
180,441,000 180,441
= 126,309
Al 54,132
ZOoHIES XA AIHIXIZ 1,017,737 927,511 90,226
Al 1,015,217
o 2,520
201 fer=3| 2,520 2,520
01 AtR2t2|HI 2,520 2,520
ozg=g 2,520
OIS =23 NHAMAA &
Had 2,520,000 2,520
307 elztol & 1,015,217 924,991 90,226
Al 1,015,217
05 2ItRIE = 1,015,217 924,991 90,226
OFMAESKIA AHIXKIE
1,015,217,000& 1,015,217
Al 1,015,217
LETHEMHIA HIRH X 788,782 669,120 119,662
= 562,148
Al 118,317
s 118,317
307 @I2t0| & 788,782 669,120 119,662
= 552,148
Al 118,317
Ea 118,317
05 212+ =S 788,782 669,120 119,662
OYEMEAMEIL HI2X K&
788,782,000 788,782
= 552,148
Al 118,317
[Ea 118,317
AHEEXE HEH K& 6,839 13,091 6,252
= 4,787




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,062
307 gl2tol & 6,839 13,001 26,252
= 4,787
Al 2,052
05 git?(& = 6.839 13,091 6,252
oL BI2H X2
6.,839,000& 6.839
= 4,787
Al 2,052
LEHQ FHESAHEIA XIEH 1,199,838 802,857 396,981
= 839,887
Al 369,951
307 @20l & 1,199,838 802,857 396,981
= 839,887
Al 359,951
05 glt?(& = 1,199,838 802,857 396,981
OLLHMHR FAVSHUIA X
1,199,838,000& 1,199,838
= 839,887
Al 369,951
LEZOH F2AHESAHIA ABIXIE 86,400 86,400 0
Al 86,400
307 212+01& 86,400 86,400 0
Al 86,400
05 212t =S 86,400 86,400 0
OLLHONRl FABEMHIA AlLIXE
86,400,000 86,400
Al 86,400
ol YEYSY gusEshadA XA 435,504 271,429 164,075
= 304,853
Al 130,651
307 @I2to1 & 435,504 271,429 164,075
= 304,853
Al 130,651
05 2IR”tRIE = 435,504 271,429 164,075
OFAH LIS BU=SSAEIA X
& 435,504,000 435,504
= 304,853
Al 130,651
SOHEYOHQ =S JHEALS 11,400 11,400 0
= 5,700
Al 5,700
401 Al HIZ S OHbI 11,400 11,400 0
= 5,700




SA I OoNer 1t
M =S
Ol THASE FONQIM BT AL (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 5,700
01 AlZ2H| 11,400 11,400 0
OSHEZ OIS IHZAS
3,800,000 *3H 11,400
= 5,700
Al 5,700
MEURSAE AFDAIE A2 X A 32,000 32,000
201 er23| 2,000 2,000
01 At2teltl 2,000 2,000
OZ&2Hl S 2,000,000& 2,000
401 Al HIY S CHYI 30,000 30,000
01 A28l 30,000 30,000
OAtHI 1,000,000 *30JH 2~ 30,000
O ERDID FHl XA 27,000 27,000
301 EtE NS 27,000 27,000
02 ARSI 2E AT S(FANS, XNLETHE) 27,000 27,000
OFMHALZEID| 2Hl XIS
27,000,000 27,000
JHA=SAAIE & SH2E 2435t 26,601,230 20,479,362 6,121,868
= 8,857,135
Al 9,570,025
[Ea 8,174,070
SO SXIEM X ZSHA XS 247,134 193,910 53,224
201 Ler23 | 21,616 21,476 140
01 At2telt] 8,950 9,050 A100
Oggt+==H| 5,060
OZOHIXSXHEX ME S
3,360,000& 3,360
O=0SHE R ==&
70,000& %102 700
OZMASXAMLIN S22 MA S
500 *2,0000H 1,000
ogx=z 2,300
O(F)ZHAHAE X (ARX) HE=
2,300,000 2,300
o=2g+d 1,590
(OFS (U ReIEEDNE, kol = Eobetsy
70,0002 713 490
OZALNE ws ZAt=E
1,100,000& %12 1,100
02 s3=gHl 12,666 12,426 240
OZOMHA=XIE SE HHEH
3,880& *1,8004 6,984
OS2+ SESHI| FAl&c
114,000 * 1394 2+ 13 1,482




2A:

A ZOHI=XSE
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OHNAREETY FAH2I8H B2IAAE
SXl2teltl 350,000& 123 4,200
301 LPENF 7,600 7,600
11 HAFAHIXIAZ 400 400
OXOHQ! LR (HERZ]) EHAX Al
10,0002 x10F *43| 400
14 JIEt2 43 7,200 7,200 0
OBMUNHFAIL QAXIZ0IC 2Per &
SHl 50,0002 *4H*9QIH 2 x43] 7,200
307 212+01 A 188,345 164,834 23,511
03 QI HE2GHIEX 99,245 80,734 18,511
OXIMEOCIgs ==X3 2FH| K&
48,684,000 48,684
OXEFOCIEXE2 S=2AE 23HIX
& 22,576,000& 22,576
012183 2F2X3 234l X
27,985,000& 27,985
11 AL =SXAMEES 89,100 84,100 5,000
OXOHIOHHID WAl 16,000,000& 16,000
oXoeIeddT ! MOILE
11,000,000& 11,000
OF 02! S| IALY 33,000,000& 33,000
O Mot d=lts 3,300,000& 3,300
OXIEEOCIIIE AZIME
4,800,000& 4,800
OXIEFOMC RENS 1,000,000& 1,000
oggXiel =g ot
4,000,000 4,000
Os0tol AL SIS 4,000,000& 4,000
OAZS =0ua 12,000,000& 12,000
405 KR SHI 29,573 29,573
01 ML SEFHSHI 29,573 29,573
EOHIS(RMECIES 2F2X13) 29,573
O A Lt2HD| 350,000& 350
Oy 2 Rel 4,846,000 4,846
QoA+ ¥ AT} 5,930,000& 5,930
ONE ¥ RE 2,050,000& 2,050
OALIL 4,241,000 4,241
OZelH 795,000& 795
OgHl& BIS 4,551,000 4,551
OLIEIE 1,397,000& 1,397
Oog=2 ¢ =ty 3,925,000& 3,925
OY Tz A 1,483,000& 1,488
ZOCIHBSRD | =X AHEH 2 52,004 130,297 AT78,293




SA I OoNer 1t
o FOjRI=2X ST
Chel: ROJOI=TAL U e 2as (crol: @)
2 - HE - E9I(E) - AIRAY - of v G o HIDE2
Al 17,500
s 34,504
301 EtE NS 1,000 4,000 A3,000
14 IIEt2d3 1,000 4,000 23,000
OZMABASED =K 2HE SAMRE =
g 50,0008 x2& x 102 1,000
307 @12H0| & 51,004 126,297 ANT5,293
Al 17,500
s 33,504
10 Al SXAEEE 22X 51,004 46,771 4,233
OFMIHASII|=XI2AME 23Ul S
51,004,000 51,004
Al 17,500
s 33,504
NEZONQXE X2 HE 2K 154,075 135,165 18,910
Al 61,630
Ea 92,445
307 gl2to| & 154,075 135,165 18,910
Al 61,630
s 92,445
10 Al SXAIZEE2EHIEx 154,075 135,165 18,910
OXNHZHI NS HEH 2l S
154,075,000 154,075
Al 61,630
= 92,445
=0 SAHE 2SS 301,437 236,046 65,391
Al 135,562
Ea 165,875
307 el2to| & 27,123 236,046 35,077
Al 135,562
o 135,561
10 AlRISXAZEE 22X 271,123 236,046 36,077
O=0ISHH 238l S
271,123,000 271,123
Al 135,562
Ea 135,561
405 AHatE = 30,314 30,314
01 ML ESF SHI 30,314 30,314
alslE 24 30,314
Ooxd € HIoIE 4,263,000 4,263
O2IXt & ATt 6,365,000 6,365
OILEIE 6.,549,000& 6.549
Ox& & JIEDH 6,620,000 6,620
OgHtI& HIS 3,308,000& 3,308




2A:

M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O Zzdy & A38 1,707,000& 1,707
OJIEt HIZ 1,502,000& 1,502
ST NS LENH 2SS 130,000 72,000 58,000
Al 65,000
s 65,000
307 @I2t01 & 130,000 72,000 58,000
Al 65,000
Ea 65,000
10 Al2IS XA EEE 22X 130,000 72,000 58,000
OSSHMANHLEEHEH 23|
130,000,000 130,000
Al 65,000
o 65,000
el s=g 2SI 56,580 54,000 2,580
Al 56,580
308 XXM SOIH 56,580 54,000 2,580
Al 56,580
13 SI[2SOHe & EAS A 56,580 54,000 2,580
oI ==g 2 56,580,000 56,580
Al 56,580
JOHA=SXAIE Ols2 X2 88,200 87,600 600
Al 88,200
301 EtE NS 88,200 87,600 600
Al 88,200
02 ARSI 2E AT S(FIANS, XLETHE) 88,200 87,600 600
OdHMA=SAAE 0|12 XNIH
50,0002 x147E~12& 88,200
Al 88,200
o F2UESAd 2SXE 1,563,954 957,924 596,030
Al 1,255,914
T 298,040
307 glztol & 1,151,590 609,350 542,240
Al 955,544
= 196,046
10 Al SXAIEEHE 22X 1,151,590 609,350 542,240
OTOHAFLESAIE 2ERIA(5IHA) 750,857
@)uiFal:] 701,057,000& 701,067
Al 630,951
s 70,106
o242 830,000 x50 2% 123 49,800
Al 44,820
= 4,980




2A:

M =S
Sl MOHOISXAIE U SHSY 25 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFL! =S FAEZSAIE 2SR (1N
&) 279,773
@)uiFal:] 268,973,000 268,973
Al 268,973
o242l 900,000 #1 04 ~+ 123 10,800
Al 10,800
OTOHAFLESAIE FIH2HI (6914 )
1,680,000& 64 A x 12 120,960
308 AXIMSO0IA 376,064 348,574 27,490
Al 300,370
o 75,694
18 S| 2SO BHASAIE 376,064 348,574 27,490
OFOMHAFAESAIE 2SI (2HA) 333,744
OelAt| 309,744,000 309,744
Al 218,770
= 30,974
o222l 1,000,000 «20 A+ 122 24,000
Al 21,600
Ea 2,400
OFOMHAFAHESAIE FIH2HHI(2h2)
42,320,000 42,320
403 TR SHMSAH=01H 26,300 26,300
02 SIS0t =S A AEHI 26,300 26,300
O2MFHIFUESHH H=2HZH
26,300,000& 26,300
AN HFAIE 2SN 1,120,002 742,600 377,402
Al 1,120,002
307 glztol & 1,120,002 742,600 377,402
Al 1,120,002
10 AlRISXAZEE 22X 1,120,002 742,600 377,402
OFOHASIIHFAIE 2SI (20HA) 1,120,002
@Jukal:] 1,076,002,000& 1,076,002
Al 1,076,002
O=gH| 24,000,000& 24,000
Al 24,000
OArgHI 20,000,000 20,000
Al 20,000
SOHRIAFAIE 2SR 12,580,972 10,434,381 2,146,591
= 8,806,710
Al 3,774,262
307 gl2to| & 12,580,972 10,434,381 2,146,591
= 8,806,710
Al 3,774,262
10 Al SXAEEE 22X 12,580,972 10,434,381 2,146,591




SN OIFOfQI Dt
M HOHI=XST
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
OBMWIHFAIL 2128l & 28I (742)
12,580,972,000& 12,580,972
= 8,806,710
Al 3,774,262
ZOHQIAHFAIE 23| AHIXIA 615,253 564,861 50,32
Al 615,253
307 QI2H0l A 615,253 564,861 50,392
Al 615,253
10 Al ZXAIEHE2FHIE X 615,253 564,861 50,392
OZONRINFAIE 28| AIBIXIA(7HL) 615,253
ZEOMBAR Q1218 Y 2y
540,223,000& 540,223
Al 540,223
OYLRt 24| 71,832,000& 71,832
Al 71,832
ogel 2z 3,198,000& 3,198
Al 3,198
ZOHRIA=AIE SIIEED| g XA 19,600 19,600 0
= 11,760
Al 7,840
307 2I2+01™ 19,600 19,600 0
= 11,760
Al 7,840
1 ASI=SXAIEEE 19,600 19,600 0
OZOIAHFAIE SIIEED| dE XA
19,600,000 19,600
= 11,760
Al 7,840
ZOHQIMATHEAIE 2HRI2 1,701,575 1,236,120 465,455
Al 1,371,637
= 330,038
307 2Iz2+0l™ 1,486,895 1,236,120 250,775
Al 1,371,537
= 115,358
10 Al ZXAIEHE 2FHIEx 1,486,895 1,236,120 250,775
OO XATHEAIE 2GR (4HA) 1,486,8%
OelAd| 1,340,615,000& 1,340,615
Al 1,285,257
i 55,358
O3l 146,280,000 146,280
Al 86,280
= 60,000
405 KHaHE S| 214,680 0 214,680




2A:

M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 214,680 0 214,680
Oodg M ZZAIEE EIIHIS 7Y 214,680
Og+s == 15,763,800& 15,764
Ox=Etad 32,546,000& 32,546
OEoa(d,0) 2,060,000 2,060
OFAN&(L,0d) 20,390,000 20,390
O FAIRA 4,463,000& 4,463
OXHHE D 15,080,000 15,080
Oxgd 6,405,000 6.405
oag 42,694,500 42,695
Ousa 44,180,500 44,181
O S AL 2,250,000& 2,250
OolMzagd 712,000& 712
O2AM 1 3,189,000 3,189
OAIR4 17,041,000& 17,041
OA& & 3,666,000& 3,666
Ogtl& 2,940,000 2,940
Oazloa 1,298,000& 1,298
ZOHAXSTHEAIL JIs22 77,330 0 77,330
= 38,665
Al 38,665
402 QI”F X201 & 77,330 0 77,330
= 38,665
Al 38,665
02 PIIH2 AN 2 X (OIH T 77,330 0 77,330
OLRHMABSHAT B2t FH2IP 7
= 7,700,000 7,700
= 3,850
Al 3,850
OHSHMULSEAR AL W24
69,630,000 69,630
= 34,815
Al 34,815
Zojelsx2 23X 2,275,614 2,247,568 28,046
Al 876,980
o 1,398,634
308 AtXIEMSOIE 482,536 448,377 34,159
18 SIS B HASAIE 482,536 448,377 34,159
OFA=X2 At =S|
482,536,000& 482,536
309 dE= 1,777,828 1,666,111 1,717
Al 876,980
= 900,848




SN LCoIZ0felD
M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 SAL- SHEYTES 1,777,828 1,666,111 m, 717
o= 24 1,777,828,000& 1,777,828
Al 876,980
o 900,848
404 SAISEHIEEES 15,250 133,080 A117,830
01 SAL- SEHHEdES 15,250 133,080 A117,830
oFMHI=X2 2 15,250,000& 15,250
A =XAE ?I2 41,400 38,790 2,610
301 22N = 41,400 38,790 2,610
02 MBI 2HHSFHS(FHAANS, KLHE) 41,400 38,790 2,610
OZMASXAIE A=
45,0003 x460E »23] 41,400
ARISXAIE SAHL X5 SAZUE K& 85,100 62,600 22,500
Al 85,100
307 212+01& 85,100 62,600 22,500
Al 85,100
10 AlISXAEEE 22X 85,100 62,600 22,500
OARISXIAIE SAR XES SKEQUE
A& 85,100,000& 85,100
Al 85,100
SEHEMHIZZAIEE 018 &= 670,000 1,227,000 ABb57,000
401 Al HIZ S OHbI 550,000 1,227,000 677,000
01 A28l 550,000 1,222,000 672,000
OZAHI 550,000
O&YEZ K4 280,000,000 280,000
ONE&EYl =2l & 01
270,000,000& 270,000
405 KHoHF S| 120,000 0 120,000
01 ML ESFSHI 120,000 0 120,000
ONE&H ¢ 120,000
O=gmgA(wH) 55,000,000 55,000
OZHI0I0 (=D1) 65,000,000 65,000
ZOeIS K2 g2k HE (A=) 3,765,000 660,000 3,105,000
401 Al HIZL 01| 3,765,000 660,000 3,105,000
01 Al&H| 3,000,000 660,000 2,340,000
O3 A 3,000,000,000& 3,000,000
02 Zcltl 739,000 0 739,000
Ozell 739,000,000 739,000
03 A& S CHYI 26,000 0 26,000
OAIZ 20 26,000,000 26,000
ERHI=X2 HE (H=HI) 1,066,000 1,066,000
401 Al HIZL 201 1,066,000 1,066,000
01 Al&H| 1,066,000 1,066,000




SN =OIF0feI D
B2 FOjeI=X S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
||| ozl 1,066,000, 0002 1,086,000
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Al 14,742
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2 58,967
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EEEESIPEBEEPERS 98,040 98,040 0
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2 58,967
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JI=2 2| (=1 Z0HOID) 76,325 101,807 A25,572
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01 Al 2| 41,525 40,097 1,428
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